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Adaptations & Biomes

A)  Adaptations and Biomes

Biomes are oft en identified with characteristic biotic factors:

· because they have special adaptations for a particular biome
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an adaptation is a characteristic that allows an organism to better survive and reproduce.
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For example,
· Cactus in the desert biome.
· Polar bear in the tundra biome.

B)  The Three Types of Adaptations:

I)  Structural adaptation
· a physical feature (external, observable characteristic) with a special function that helps an organism survive

· e.g. camouflage – similar colour as the background to blend in with the environment

For example,

· Wolves: __________________________________________________________________
· Artic Fox:  ________________________________________________________________

· Pine trees: _________________________________________________________________
· Porcupines: ________________________________________________________________
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II)  Physiological adaptation
· a physical or chemical event inside the body of an organism that allows it to survive
· e.g. hibernation – a resting state some animals do to minimize the use of energy in winter
For example,
· Wolves maintain a constant body temperature regardless of weather conditions.

· Cacti have a special process of photosynthesis that requires only half as much water as other trees and ferns do.

III)  Behavioural adaptation
· a behaviour that helps an organism to survive

· includes how the organism feeds, mates, cares for the young
· e.g. migration – some birds migrate to a warmer place in winter to find food
For example,

· Wolves hunt in packs to capture large prey.

Quick Check: 

1. Identity each of the following characteristics of a camel as:

· a structural, physiological, or behavioural adaptation.

(a) It has long eyelashes to block sand. _______________________

(b) It has wide flat hooves to walk on sand at ease without sinking into it. ________________

(c) It has long fur for insulation. ___________________________

(d) It has big humps to metabolize fat into water. _________________________________

(e) Its fur colour is beige (light brown). _________________________________________

2.  Identify each of the following characteristics of the common spotted owl as:

· a structural, physiological, or behavioural adaptation.

(a) Its feathers have white spots on a brown background. ______________________________
(b) It maintains constant blood sugar levels. _____________________________
(c) It lines its nest with grass. _______________________
(d) Its eyes face front to give depth perception. ________________________
(e) It places cow dung at the front of its nest to hide from predators. _________________________
Review: Biomes & Adaptations

1.  Refer to pages the biome info booklet, using the climatographs, biome map, and your notes to 

     answer the following questions.

(a) Which biome has the most constant temperature over the course of a year?
(b) Which biome has the greatest range in monthly temperatures over the course of a year?

(c) Which biome has the greatest range in monthly precipitation over the course of a year?

(d) In which biome does precipitation exceed 100 mm in a single month? 
(e) For how many months of the year is the average temperature below freezing (0oC) in a   

grassland biome? 
2.  Compare animal adaptations:

(a) Which biome has large grazing animals as well as predators of the grazers?
(b) In which biome do many animals live in different layers of the forest?

(c) In which biome do insect-eating birds migrate south in the fall, while seed-eating birds stay 

year-round? 
3.  Compare plant adaptations:

(a) In which biome do the trees grow very tall? 

(b) In which biome are trees present but scarce due to limited rainfall? 

(c) Which biome is barren of trees? 
